2012 NJLR/ANL—FR—)LKE FEIRT—UHERER
% b I —h ABCHKTmyZ 1A —2 (i~ 3{LHRE)
F— L% A2 B6 C3 - TR EIAEEEINED
fafHptr—=7 ¢ O X
IV 1 1| 12 | 16 | -4 PEER
(T A 3k 8 6 4 10
7 =& N X O
B6 1 1 21 | 11 | 10 |ERs
(RITE Hh3ek) 6 8 15 3
PHEL T 4 — R O X
C3 1 1 13 19 | -6 | 367
(S H Ht i ) 10 4 3 15
% 4 I— | ABCHKETwvr 20U —2 (40~ 6{RE)
T — L% A6 B9 C9 - TR EIAEEEINEDN
Kl Lwaiwaiy 7 O O
A6 2 0 17 9 8 | 4fr
(2= Hi k) 10 6 7 3
SULHDODRBRA X O
B9 1 1 13| 15 | -2 | 547
(S H i) 6 10 7 5
=K EL—F— X X
C9 0 2 8 14 | -6 | 67
(1 H i) 3 7 5 7
%7 I— K ABCHKTw v 3LY—2 (7~ 9{kE)
T — L% A9 B3 C6 - TR EIAEEEINED
KR O O
A9 2 0 17 | 10 7 | 7z
(1 H i) 7 6 10 4
BIlA 7 4 =7 4 X X
B3 0 2 13 | 17 | -4 | 9fr
(2 H i) 6 7 7 10
teamBBEATRLPAX X O
C6 1 1 14 | 17 | -3 | 8fr
(T Hitdik) 4 10 10 7




2012 NJLRNL—HR—)LKE & ERTERE R
w1 oa—bh Aoy 1LY —7
F— 1% A2 AG A9 ARSI
B[ e — 7 ¢ O O
A2 2 17 | 14 3 | 1fir
(m] H 4% 7 9
Kl Lwaiwaiy 7 X O
A6 22 | 12 | 10 | 2z
(= M) 15
KR X X
A9 11 | 24 | =13 | 367
(1 HHiER) 15
¥ 2 a—bh AT7uavw 7 2fr)—7
F— 1% Al Ad A8 Bk BTSN
(PN O AN
Al 14 | 13 1 | 147
(= Hiufik) 5 8
B R Y — A X x
A4 11| 13| -2 | 367
(2 o hidak) 6
FTAF 4 — A O
A8 15 14 1 2T
(TR Mtk 6
3 o—h A7y 2 3LV —7
F— 1% A3 A5 A7 Bk ARSI
RE77IV—=X O X
A3 14 | 15 | -1 | 2fiz
(K B Hiufik) 6 6
ISOZAKIZ 5 X X
A5 9 16 | -7 | 3%
(S a3k 3
K% SAH /38— O O
A7 17 9 8 | 147
(2= 55 Hi k) 3




2012 ALRNL—R—)LKE R
¥ 4 o—b~ BZ7uoavw 7 1) —7
F— 1% B3 B6 ARSI
A7 4= 4 X
B3 0 11| 19 | -8 | 367
(2 HHiiEk) 12
7 —H A O
B6 19 9 10 | 1fir
(TR Mtk
SULLDRBSA A X
B9 12 | 14 | -2 | 267
(3 r 4 7
¥ 5 ao—bk B7uovw s 2frl)—7
F— 1% Bl B5 P& BTSN
IZ LI AC X
Bl 3 23 | =20 | 3fr
(K B i) 14
Ral o 5 75 O
B5 20 8 12 | 21
([mT H Hitdsk)
B REE S O O
B7 17 9 8 147
(7= 55 Hidak) 6
w6 =2—h B7uvZ 3L —7
F— 1% B2 B4 P& ARSI
7Y —r R X
B2 13 | 10 3 | ofr
(= Hiufik) 6
ELILST AT O
B4 13 | 10 3 | 1fir
(1 Fr k)
I X X
BS 10| 16 | -6 | 367
(322 i) 7




fere

ol

F—1%

220112 @%baﬂvbrﬁweﬂbj%*

C6

C9

LT 4 — R
c3

(o Hig)

O

11 5 7

[N}

NELT

KA

C6
(RITIEE Hi 15k

t e amEETARE AR

11

20

3L

=RHEL—F—
C9

(1 s

fere

13

2L

8
F—1%

T

C2

a— K~ CT7uv 27 2/t —7

C4

C7

R

C2

TAKEDA Y7

(2 HrHiE)

X

15 7

13

(A ;E Pins

28

=

NELT

15 | 347

C4

AT e e 7 L

(o] e Hi1455)

15 6

11

26

10

16

KA

C7

S+ SF—n

(& i)

fere

13 7

11

17

18

2L

9 a—Fh

F—1%

C7uavs

L) —7

Cl

Co C8

R

C1

S ORNMER

(1 27 Hhiak)

O

14

20

AR 9%/‘#;

13

NELT

2L

Cb

FH 22 P

(FH 2= Hheg)

14

10

10

14

24

-10

3L

C8

NEFT 7 A4 —X

(R B Hheg)

10

10

19

16

KA




2012 ANJLRANL—FR—ILKE F1RAT—UHERR
B 1 a—k
F— L% Al A2 A3 B | & | Ba a8k EM
(PN X A
Al 0 1 10 | 16 | -6 | 2fif
(H 2= i) 5 11 5 5
fare - —>7 ¢ > O O
A2 2 0 26 9 17 | 7
([T o a3 11 5 15 4
RKEZ77IVJ—X JAN X
A3 0 1 9 20 | -11 | 3z
(R B Hiufik) 5 5 4 15
% 2 a—k
F— L% A4 A5 A6 B | & | Ba a8 Ek]EM
B R Y — A O X
A4 1 1 17 | 12 5 | ofif
(2 b Hlidik) 14 2 3 10
ISOZAKIZ 57 X X
A5 0 2 9 24 | -15 | 3z
(S o 3k ) 2 14 7 10
IR L waiwaiy 77 O O
A6 2 0 20 | 10 | 10 | 147
(FEH HiIER) 10 3 10 7
3 a—k
F— L% AT A8 A9 B | & | Ba a8 Ek]EM
KSR/ R—X X X
A7 0 2 10 | 13| -3 | 3z
(7= %5 HinJs) 3 5 7 8
TAT A= O x
A8 1 1 11 | 10 1 | off
(T I Hindsk) 5 3 6 7
KR O O
A9 2 0 15 | 13 2 | 7
(1 o k) 8 7 7 6




2012 ANJLRANL—FR—ILKE F1RAT—UHERR
B4 =—h
F— 1% Bl B2 B3 B | & [Sa ks BB
IZLRAC O X
Bl 1 1 12 | 19 | -7 | 2z
(K B Hiufik) 7 13
T =X X X
B2 0 2 11 | 18 | -7 | 3z
(A 2= i) 6 7 11
Wil v 7 4=T 4 O O
B3 2 0 24 | 10 | 14 | 1fir
(2 Hrhisk) 13 5 11
B 5 =—h
F— 1% B4 B5 B6 B | A [Sa a5k | ELr
BELILSTEIAT X X
B4 0 2 8 19 | -11 | 3f%
(1 Hhisk) 7 10
Far B O X
B5 1 1 16 | 17 | -1 | 20z
([T o M35, 9 7 10
AU N O O
B6 2 0 20 8 12 | iz
(HITUE Hiudak) 10 1 10
B 6 =— h
F— 1% B7 B3 B9 B | & [Sa] ka5 BEAL
R EH O X
B7 1 1 14 | 12 2 | 2fz
(7= 55 Hi k) 10 7
M7 X X
B8 0 2 9 18 | -9 | 3fr
(2= Mtk 5 10 8
CUBLDRBRA O O
B9 2 0 15 8 7 | Iz
(SF-H i3k 7 4 8




w7 22012 NLANL—HR—ILRE F1AT—VBEER
F— 1% Cl c2 C3 B | A [ Sk | BB
R PRy ie X X
C1 0 2 11 | 20 | -9 | 3z
(= B I 7 12
TAKEDA Y7 O X
C2 1 1 13 | 18| -5 | 2z
(2 Hrhisk) 8 7 11
SERELT 4 — A O O
C3 2 0 23 9 14 | 167
(£ i3k 12 4 11
# 8 =—h
F— L4 C4 Ch C6 B | A [ S x| BB
Ry H e o O X
C4 1 1 16 | 16 0 | 2fz
(T ;) 8 9
M X X
c5 0 2 11 | 22 | -11 | 3z
(A 2= i) 7 8 14
t e a mERKY T RD S AR O O
C6 2 0 23 12 | 11 | 147
(RITE Hh3ek) 9 8 14
# 9 =—h
F— L4 C7 C8 C9 B | A [ S x| BB
S - SF—ALA O X
c7 1 1 17 12 5 | 2fir
(2= T Hidik) 11 8
N7 7 A H—KX X X
C8 0 2 6 24 | -18 | 3fiz
(R B ) 4 11 13
=R EL—F— O O
9 2 0 21 8 13 | 167
(1 Hrhisk) 8 6 13




